
SEGMENT LENGTHS IN CIRCLES
For #1-24, write a proportion and solve for x by applying corresponding sides of similar triangles
are proportional.

Tl or 'rwo Cl IORI)S
(piece) (piece) = (piece) (piece)

16

THE INIT,RSECTION OF A SECANT SEGMENT AND A TANGENT SEGMENT

(26 114
aso +10 x

10.

q(q-i 7)

(ou tside)2 = (outside) (whole)

30 2 = Is t lßÄ)
qcu=

12.



'l'i or 'I'WO SECAN'I' SI',GMINI'S
(outside) (whole) = (outside)(wholc)

14.

12+38)'tL0= Gooz L2S+lS\tq5%

18.

18

20(20+7) -18(18+X) LA 45+27) zl*b ( LIIO-FX)

32Q0 = 1000 tqDx
21

MIXEI) IEW

20. 21.

12

16

22.

39

8 2 z

)toDÒ

40


